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ODs70 ODgso
BTN DT —H | 5 o D BTV DT —H T+ SD
1 2 3 1 g 3
+ el 0.044 0.044 0.045 0.044 =+  0.001 0.041 0.041 0.041 0.041 = 0.000
Re 5t R 1.008 1.043 0.991 1.014 =+  0.027 0.108 0.109 0.107 0.108 =+ 0.001
RE 1 0.072 0.064 0.065 0.067 =+  0.004 0.051 0.046 0.045 0.047 = 0.004
PSR E 0.916 0.928 0.966 0.937 =  0.026 0.105 0.112 0.104 0.107 = 0.004
SD: Standard deviation
F3 T, BEVERE, B RS OB E O MR A7
(ODs7g - ODgsg) - 7 727 (ODs79 — ODgsp) AR AEFEER (%)
Sl TH o+ SD L TH o+ sD
1 2 3 1 2 3
T = — — = — = — -
Fa 4 St i 0.897 0.931 0.881 0.903 =+  0.026 99.3 103.1 97.5 100.0 =+ 2.9
FEsE e R 0.017 0.015 0.016 0.016 =+  0.001 1.9 1.7 1.8 1.8 * 0.1
R E 0.808 0.813 0.858 0.826 +  0.028 89.5 90.0 95.1 91.5 =+ 3.1

SD: Standard deviation
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